Capped Pawn

Notes hy Dr, Gearge Saules
(2 versions)
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An Introduction to Capped Pawn (Cappy) 9/20/99

Cappy is a game played at IDA/CCR Princeton since 1982. It is

played between a gang of kibitzers, who maneuver the Black pieces,

and a masochist who must mate with a certain pawn called the cappy.

We use uppercase for the White men only [KQBNRPC] with C for the cappy.

+%* * The Rules of Cappy ***

Usually the cappy starts at g2, but £2,b2 have also been tried.
To compensate for the exposed cappy, White starts with two moves.
To win on the board White must deliver mate with the cappy.

In return, White loses if mated, or if the cappy is captured or
promoted, or if Black is mated with a different piece or pawn.
Otherwise the rules of chess are followed. Some consequences:

i) The cappy is not treated like a king; an attack on the cappy can
be ignored if White checks the Black king. - In the heat of battle
a single-move capture of the cappy is occasionally overlooked,
and the game continues without material consequence.

ii) A diseovered mate delivered with another piece by moving the
cappy is not mate, but a loss for White. However, a double-
checkmate by moving the cappy is possible.

Miscellany

a) our clock rules are designed in the interest of the game, rather than
to terminate the game. An illegal move, when detected, is retracted
with the offending player losing some ticks off the clock, while the
other player gains some ticks. If a flag falls in a lost position,
the other player usually prolongs the pain by feigning ignorance.
Even when one player makes a very poor move, the other player often
treats it as an illegal move, with the consequent clock adjustments.

b} A cappy player of Mastgr speed-chess rank can usually play a novice
{a player who has never played tournament chess) roughly even with
five minutes apiece on the clock. (The relative times may need
some adjustment, but seven to three for either side is rare.)

This is quite different than time-handicaps, where often the only
question is whether the better player mates before forfeiting.

c) Cappy is played in the presence of a random element (RE}, which
is the relative strength of the Black moves. Whereas chess is played
and apalyzed in a deterministic (perfect information, no RE} scenario,
other popular games like bridge, backgammon, and poker have RE's.

d) There is no "best" move in general, for either player!
This is a consequence of the RE. With Black a "good" player,
best could be defined as the quickest win (usually of the cappy),
which would suggest sharp tactics. Or for a lesser player it could
be to make the safest move now, that will eventually lead to a win most
surely; this would suggest long-term strategic play. But in either case,
with White the better player, Black runs the risk of being outplayed.

What should Whitels strategy be? Should it be to prolong the safety of

the cappy, or create holes in the Black defense at all costs, or ...?

since White starts with a lost game, the only hope is to takq risks to
Uﬂjzbsmqu o

improve the White position. j;; o{ka‘vwﬂd} “%Vuﬂﬁf
: DA ;
e) The openings that hgve evolved are not in the chess books.
The suggestion to "jyst play chess” as Black doesn't seem
to work well with playprs of suitable relative strengths.
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Why Play Cappy?
Cappy is a fair game between two players of disparate talents,
in which either side can take time to think.

There are fascinating endgames which can test the best of analysts.

There are amusing sequences which only occur in Cappy, such as the mop,
the swinging rook, the chase, the mate defense, and the punching bag.

Since White starts with a dead lost position and has no best move, it
turns out that Cappy, unlike chess, is a game in which White must bluff.
The "Cappy players" (a.k.a. the kibitzers, one of whom plays the Black
pieces) did not appreciate this element of the game for several years.

one of the consequences of the RE is the role of the kibitzers.
The kibitzing element is abhorrent to chess players, where the
best move is best and pointing out a single move can be fatal.
But for games with a RE, kibitzing in moderation can lend a
sccial element which is beneficial to the game. {(The backgammon
chouette provides a natural cadre of kibitzers.)

a
What constitutes a good strategy for White is most dependent upon
the style of the Black player. It is here that the kibitzers can
wield their greatest leverage, by causing Black to alter his
repertoire during the game.

Cappy is more fun than chess -~ you don't have to win to have a
good time. This 1is partly because it is a fair game which is
nonetheless massively out of balance, and which enjoys (suffers?)
large swings of fate. Nearly always, someone has a lost position.

Some Endgame Puzzles (Thanks to Paul Lemke for corrections/confirmations)
Black has a lone king. For the first four puzzles, White has no pawns.
By symmetry, we may assume C lies inside the rectangle e2-e6-h6-h2-e2.
Thus Ch means the cappy is on the h-file, one of Ch2,Ch3,Ch4,Ch5,Ch6.

P1. Show that with Ce + Q, or Ce6 + Bel + R, or Cg6 + Bgl + R,
White can mate, but only if Black cooperates.

P2. Show that White cannot mate with Ch6é + R + R, or Ché + Bhl + R,
or Ch + Bhl + N.

P3. Show that, except for P1-P2, White mates by force in all cases
with either C + @, or C + any two of the pieces R~-R-N-N-Bgl-Bhl

P4. One-piece mates. With C + one piece [R,B,N] there is no forced mate
without a favorable position. Find all C positions so that White can
mate with Black to move from Bb2,Kf6,C?,kh8. (f2,£3,£5,92,93,94,95]

P5. No-piece mates. With Kb7,C?,kd7 how many pawns, none beyond rank 4,
does White, to move, need to mate by force without promoting a pawn?
{Answer: With one pawn, mate is possible but requires Black's help.
But with Pe4d,Pfd4,Cg4 White mates starting with e5.

The final position is Khé6, kh8,Pe?7,P£7,Cg7.]

P6. White has C + P, on the same rank and on adjacent files, defended
from behind by the king. Show that with the best possible Black
king positien, White mates by force only in cases (a) and (b).

(a) P,C are on files e,f or f,g or g, f respectively.

(b} P,C are on g2,h2 or g3,h3 or g4,hd respectively.

Most interesting is Pg5,Ch4,Kg4,kg7, which Black draws if Ch53
instead, or if White fails to move sideways to or from £3.



On P3: All mates with N+N are interesting, as is the mate starting from
Kf5,Rg5,Ch5,Rf8,kh6: 1. RE6 kh7 2. Rf7 any 3. Rf8 kh7 4. R5g8 khé
5., Rh8 kg7 6. h6 1-0.
Most interesting is C£6+Bfl1+N. = = ---=—-—-=  -——==--—-=  —-eeoe-o

White corners the king on h8 (A). | ki | k|| k
As mate is not possible with kg8, | B || N | | K
White forces kf8 starting with (B). | N CK | | BCK | | N BC |
White moves Kh6-Nd8-Nc6, then | I | (. |
relocates Kc7 {C), A pure mate | | 11 |
then follows with Ne5-Ba2-Ng6-Cf7. | b | |
The mate with Cg6+Bgl is simpler. | b |1 |
[No mate with Ch/Bhl; see P2] | (A) | 1{B) I [{(C)
en P4:  =m=-==—=—== ——-—--—=  Soom—ee—
k| From kg6,Bh6,CE£5: kg8, Cf6 kh8, Bg7 1-0; or kh8, Bf8 kg8,
| Be7 kh8, Bdé kg8, Cf6 khB8, Bf8 kg8, Bh6 kh8, Bg7 1-0.
K | From kf7,Bf8,Cg5: kh8, Bg7 1-0; or kh7, Be7 kh8, Bdé kh7,
| BfS, kh8, Bg7 1-0. Thus with the king hemmed in, White
| can change tempo or not and win with cappy on the f or g
| file on ranks 2 through 6. From the starting position,
B | Cf4 allows the king to escape with kh7. Sco the answer is
| cf2, cf3, cf5, Cg2, Cg3, Cg4, Cg5 all win and Cf4 doesn't.
on P5
The key position to mating with P,P,C is that
K k White mates on the left with either side to move.
PP 1. e7 kh8 2, Ke6 kh7 3. Kf5 any 4. g6:;

1. ... xh8 2. Kg6 kg8 3. e7 kh8 4. Kh5,g6 etc.

With Kb7,Pe4,Pf4,Cg4, White mates if the Black king

!

!

] .

C | White waits at ¢g5-h5 for ... khB then Kh6,£7,g7.

I

I

I

| is anywhere on file d-h and rank 6-8, except for 46.

Starting with Ka7, kc? White needs Pd4,Ped,P£f3,Cg3, at least, to win.

With six pawns on b4-g4 and Black's king in front of the pawns,
White can mate, without promoting, with any pawn of his choice;
i.e., with any one of the six pawns the cappy.

With Ch instead of Cgqg, it appears the = = ----7--- = —-o—---o
dead-minimum no-promeotion mate with pawns
only is Ped,P£f4,Pg4,Ch4,Pg3 with Kb7,kd7.
White starts with eg, Pushes the king
into the corner thep positions his pawns
e6,£5,95,96,Ché as on the right. White
begins with g7, and the king is trapped
by pawns so White can get his king to g4
as on the far right. He waits for kh7

to play Kh5, then mates with £6,g6,Ch7. = —=====-=  =—-——--—-

o
Lav]

The Pg7 is needed to cover h8, and Pf6 is needed to @ -———-——-
cover g7. The Ch7 mate requires defending by Pg6é.

The Pe6 is needed to keep the king from £7. The Pf5 is
needed to keep the king from g6, since mating from the
position on the right requires cooperation.

I
I
|
|
I
Suggested rule changes have included barring promotion |
by White, and having dyaws count as a win for Black. |
Such would certainly make the game less interesting. ]

On P6: White can't mate with his pawn on the h-file, as Black
ryns fo h8 and sits, If's a draw with Ce,Pf by PIl.



Wwith Pg5,Ch4 Black draws if he can move his King to square (x) for
each White K square: Ke5/ed4/gd(g6), Ke3/f3/£5/93(g7), Kf4/h3(£7},
Kel2/£f12/qg12/h12(£f8,g8). So if White doesn't move sideways to or
from f3, Black can draw.

The Swinging Rook and the Mop

Tt's not hard to guess why these maneuvers are so—named.

Starting from the initial position, Black has just captured at gd.
All Black's pieces, save two pawns, are defended, and Black has a
big attack on the cappy file. Since White loses by mating with a
rook or queen, the continuation Bb7 kb8, Ba6 ka7, Rb7 ka6, Qcé6 kas
is a win for Black. But, beware the swinging rook:

1 Qc6! kb8 Rb7 ka8 Rd7 kb8 Rb7 ka8 Re7 kb8
| kr n] kr nik r n | kr nlk r n] kzr n | Youget the idea.
( p nbbpp| p nbbppl| R nbbppi Rbbpp| R bbppl Rbpp| The rook swings
|B iB Q |[B Q 1B Q |B Q |B Q | back and forth
I g | q | g | q | q | q | from b7, clearing
| p r | p r | p x | p £ | p r | p r | the seventh rank.
|P Q P|P P|P PP P|P P|P P|] Seven moves later
| P cp | P CP | P CP | P CP| P CP | P CP | we come to the
| R RK | R RK | RK | RK | RK | RK | eighth-rank "mop":

[k r nl kr n| R n| k n |k nl k n | R | k !
| R [ R Ik j R | R | R |k I R j
B Q B Q IB Q 1B Q [B Q |B Q |B Q [B Q |
| q | a | qg | a | q | q | q | q

| pr | p xr I »pr |t pxr i p I pr | pr b p o |
|P P|P P|P PIP P|P P|P PiP P|P Pl
| p cp| P CP| P CP| P CP| P CP| P CP | P CB | P CP |
| RK | RK | RK | RK | RK | RK | RK | RK |

How to part Black from his last two pieces? Another form of the mop:

20 Rbl gb5 Rb7! ka8 R7b5 ka7 Rb7 kb8 RaT7! ka7 Rb7 ka8 Rf7 kb8 Rf4 1-0
| k |k | [k | B3 t k Ik |
| RIR |k I R [k | R I R | i
|B Q iB Q iB Q |B @ |B Q !B Q B © |B Q |
| g | g { R | | I | | !
{ p r | pr | pxx | p xr | p I | p r I p r | p R |
P PiP P|P PP P|P P|P P|P PlP B|
| p cp| P cp| P CP| P CP| P CP| P CP | P CP| P CP
| R K| R K] R K| R K | R K | K | K | K |

White checked the Black king for 26 consecutive moves!

The end comes three moves sooner if Black either interposes
qf7 or captures gb7 when he might have. For example,

18 qf7 19 RE7 rf7 20 Qc5 kb8 21 Qe5 ka7 22 Qe3 any,
then 23 Qe6 or Qe8 followed by 24 Qf7.

With the clock, the extra moves can make the difference.



The Chase

Oon an open board,

£3

ngl

£f4 ne2

f5 ng3

f6 ned

£7 ngs

"the chase" is shown starting with Cf2:

promotes 0-1

It also takes a slightly less elegant form ("the come-on'?)

.+ nh3

£3

ngS

f4 neb

£5 ng?

£f6 net8

£7 ndé

This ploy can be most annoying to White.

Oon the left, White would gladly swap

both pjeces for the rock, but after Qf7,

Black wins with REfS8.

We show how it can take a huge material

1

1.

Rbl rf8

oss to

Rb8

(almost)

4 k|
Ip ppl
| |
[ J
| |
| ¢ c |
|PPP P}
IR K|
2 Nd3 nbl

| ¢ ki
l p ppl
| [
J !
| P C |
IQ N

|P  PBPP|

| Kn R|

iIQ N

P
KR

r k|
p ppl p
!
|
P C | p
(Q N
PRPP|P
| K

b8 Ne5 d6 Qdé 1-0
ki ki ki
pp! pp! ppl

| ! I

I N N

c | c | c |
1Q | |
PRBPP|P PBPP|P  PBPP|
|K | K |

thwart the mate defense.
.. kh8 {(right) loses quickly fox Black:

Ng6 looms.

promotes 0-1

1Q I
| PN nPBPP|
[ KR Ri



A direct assault on the cappy by 1. ... g5 2. £5 rb5 loses to QcS5.
But after i ... nb3!, White cannot play ab as the Rb8 deflection

vanishes. So

2 Ob3 kh8! Nd3 rf8 Qb8 rbS8 Ne5 rf8 Rb8 rb8 Nd7 rd8

r k1 r ki r ki r k| r ki r k| 7... re8 loses

[ .

i p ppl p ppl p ppl p ppl P ppl N ppl to Rbl then Rb8.
| | ! | I i | It begins to get
1
I
|

| | | N | N [ | interesting, and
PC | pcCc | PC | PpC | PpC | PC | White is lost.
e | QN | N | { | | The White tries
|PN PBPP|P PBPP|P PBPPIP PBPP|P PBPP| P PBPP| are Rbl and Nf6.
| KR R| KR R| KR R| KR RIK RiK R| Rbl loses gquickly:

8 Rbl rd7 d5 hé Rb8 kh7 Rf8 rd5 Kb2 rdl

| ki k|l R | R | R | §. d5 threatened

[ r, ppl r p | r pki pk! pki Rb8 then Ba7.

| | pl p! pl pl So Black had to

| [ P | P | r | | abandon the mate

| PC | c | c | c | c | defense. On the

| | | | | ] left, Black wins

| P PBPP| P PBPP|P PBPP| P PRPP|PK PBPP| with ... rfl next.
] KR | KR | K K | r | The other try:

g8 N6 gf ed rg8 h3 rg2 Bh4 kg7 a4 re2 Rel rh2 Re3 kf7

| r ki rk| ki | ] | [
[ pl pl pl kpl kp| kpl| k pl
| p | p | p | p | p | p | p |
I | ] | | I I !
{ PC | PPC | PPC | PPC B|P PPC B|P PPC B|P PPEC B
| | | P| P| Pl P R P|
| P PBPP|P BPP|P Br |P r | r | rl jell
| K RIK R|K R|K R|K RIK R 1K [

{The last move, k£f7, was to avoid Rgl or Rg3 at the wrong moment]
In this position either 15 Bel rhl or 15 d5 rhl, Rel rh3 win for Black.
No better was 11 Rfl rh2, hé rh3, Bel re3, f£5 red4, Bc3 rhd 0-1.

The only other try seems to be 15 e5:
15 e5 fe fe ke6 a5 rd2 Re4 rd4d 0-1.

| | I | This position demonstrated

|

[ k pl pl pi pl many Cappy strategies --
| | k | k | k { the mate defense (three
i P | C |P C | P C | times), deflection (with
{P P C BIP P B| P B rR B the rook pins), masking
| R P R Pl R Pl Pi the cappy, and finessing
| rl x| r | | to win the cappy against
[

K | K | K | K | superior material.
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We use initials only, to mask the identities of the various culprits.
A g ¢ 0 E ¢

)q 3/29/84 - GS-DR - Cf2 - 1. Nc3/d4 (= White's two first moves).
The -letters u-z are indices to notes on the next page.

1 .., £5 Qd3 db6 Nf3 ncé Bf4 nfé h3 b6 a3 bb7 d5 neb5 Qf5 qgd7?

| rnbgkbnr { rnbgkbnr | r bgkbnrlr kgkb rlr bgkb rir qgkb rlr gkb rir kb r|
lppppp PPiPPP P PPIPPP P PP!PPP P PPIP P P PPIPbP P PRIPbP p PPlpbpap ppI

| I p I np | nmpn | pnpn | pnpn | ppn | ppn |
| p | p | p | p | p | p | Pnp | PnQ |
| P | P | P [ P B | PB | PB | B | B |
| N | NQ | NON { NQN | NQNP|PNQNPIPNQNP|PN N P|

| PPP PCPP|PPP PCPP|PPP BCPP|PPP PCPP|PPP PCP | PP PCP | PP PCP | PP PCP |
|R BOQKBNR|R B KBNR|R B KB RIR KB RIR KB R|IR KB Ri{R KB RIR KB R]

1
9 Qd7 kd7 Be5 de Ne5 ke8 000 rdB8 e4 eb Bb5 ke7 rhel g6u Bc6 bhé

| r b rir b rlr kb x| rkb r| rkb rl r b rl r b r| x ri

|pbpkp pplpbpkp pplpbp p pplpbp p ppipbp  pplpbp k pplpbp k plpbp k pl
lppn |p n |ppn | p n | p pn | p pn | p pnp | pB pnpbl

| Pn | Pp | BN [ PN | PN | B PN | B PN { PN

I B | I B | [ P I P ! P ! P |
I[PN N PPN NPIPN P|P N PIP N PP N P|P N P|IP N P
| Pp PCP | PP PCP | PP PCP | PP PCP | PP CP [ PP CP | PP CP | PP CP |
IR KB R[R KB R|R KB R| KR B Rl KR B R{ KR R| KRR | KRR |

17 Kbl bf4 Nf3 bg3v Cg3 nh5 Cg4 nféw d6 cd Nd5 ed ed kf8 g5 ng8
| r r| r ri r rl r r| r r| r r| r k r knr!
l[pbp k plpbp k plpbp k plpbp k plpb k plpb k pipb plpb pl
| pB pnp | pB pnp | pB-p p | pB pnp | pBppnp | pBp np | pBp np | pEp P |
PN | P | P nl P | ! jo | P i P C |
P | P | P C | P C | P C |
N NbP|P N NCPIPN NP/PN NPIP N P/
p cp | PP P | PP P | PP P | PP P |
RR | K RR [ K RR | K RR { K RR ]

25 Nd4 heé Ne6 kf7x Nd8 kg7 Ne6 kh7 NfB kg7 Ne6 k£7 Nd8 kf8 Re8 kg7

PP P | PP P | PP P | PP P | PP P | PP P | PP P | PP P |
K RR | KRR | K RR ] K RR | KRR | K RR | K RR | KR ]

| r knr] r nrj N nrl nrj Nnr| nr| N knr| NR nr|
ipb lpb k ipb k Ipb kipb k fpb k |pb |pb k |
| pBp ppl| pBpN ppl pBp ppl PBPN ppl pBp ppl PBPN ppl pBp ppl pPBp PPl
| P C | P C | P C | P C | P C | P C | P C | P C |
| N I | | I | ! i I
| P PIP P|P P|P PIP P{P P|P P|P P|
|

|



33 Ne6 kfly REl nf6 Nd8 kg7 Cf6 kh7 RhB kh8 Nb7 kh7z
| R nrl R ri NR rl NR | N ki 1
!pb x Ipb k ipb k |pb kipb | pN k|
| pBpN pp! pBpiNnpp| pBp npp! pBp Cppl PBP Cpp! pBp Cppi
] P C | P C | P C | P | P | P |
! | | I | I I
| P PIP P|P P|P PIP P|P P|
\pp. P | PP P | PP P | PP P | PP PIPP P |
| KR Xk R | K R I K R [K R 'K R |

u Black has a good idea but should play 16. ... bc6 next.

v A typical exposure maneuver.

w It looks like the cappy is a dead duck,

but Black goes astray with some stock responses.

x king to e7=f7-g7-h7 still wins.

Last chance to draw was 33. kh7.

The cappy was hanging for 16 of 17 moves, 11 in a row, but
the bishop was hanging for 22 straight moves!
“It's mate in 13 or so:

39. g4 g5, Be8 h5, Rel a6, Re7 kh6, Rg7 hg, hg a5,

45. Rg6 kh7, Nd§ b5, Neb b4, Ng5 kh8, Ra6 kg8, Ne6 ba, £7.

N <

~

E? 2/25/88 - GS-AR - Cg2 - 1. ed/h4 (= White's two first moves).
This game illustrates the "punching bag", in which the Black king
gets shoved around the board until a piece (or pieces) threatening
the cappy gets caught in the crossfire. Get out an extra chess set.

1 ... g5 hg e OhS d5 Ne3 d4  Nbl gd7 Becd qgd  QE7 kd8 Qf8 kd7

]rankbnrlrankbnrlrankbnrlrankbnrlrnb kbnr| rnb kbnrlrnbk bnr|rnb Qnr]|
| PPPPPP P IPPPP P p:ppp p plppp P plpppq P p:ppp p plppp @ p}pppk pl
| | | | |
i p | p P | pp PQI p PQI p PQI p PQI p P | p P |
| P Pl P P | pP ! pP | BpP g | BpP gl BpP ql
[ -1 | | N | ] { [ [
|PPPP PC | PPPP PC |PPPP PC |PPPP PC |PPPP PC | PPPP PC |PPPP PC |PPPP PC |
IRNBQKBNR{RNBQKBNRIRNB KBNR|R B KBNR|RNB KBNR|RNB K NR|{RNB K NR[RNB K NR|

9 Qf5 qf5 ef ne’ Be6 kd8 BcB8 keB f6 ngé d3 hd Nf3 hd4 Rh3 kd2

| rnb nr| rnb r|rnbk r| rnk r|znk r|rnk rirnk r|rn r|
lpppk  plpppkn plppp n Pplppp ™ pippp pIpPP | ppp | pppk i
| | i B | | Pn | Pn | Pn | Pn |
[ paP | pPP | pEP | pPP | p P p Ppl p P p Pl
| BpP ] Bp | p | p | p ! P J p Pl p pl
{ | I | | | P | PN | P N R}

|PPPP PC |PPPP PC |PPPFP PC |PPPP PC |PPPP PC |PPP PC |PPP  PC |PPP PC |
[RNB K NR|RNB K NRIRNB K NR|RNB K NR|RNB K NR[RNB K NR|RNB K R|RNB K |

P e e m——— e e Re S e e i e ——————— e im s



17 Na3 Nc6é Nc4 ragB8 a4 nfd Bf4 ef £7 rfsg g6 rhé Nh4 £3 Cg3 ne’7

| rj rr| rr| rri r ri r | r | r
| pppk |pppk lpppk | pppk ipppk P Ipppk P |pppk P |pppknP
{ n Pn|l n Pn| n P | m P | n | n Pr| n Pr| Pr|
| p P p P p P P P | I | [

| p ©p! Np ©plPNpnplPNppplPNpppPpPIlPNpppiPNp N|PNp N
IN PNR] PNR| PNR| PNRl PNRl PNR| PpR|l P pCR|
|PPP , PC [PPP PC | PP PC | PP PC | PP PC | PP PC | PP PC | PP P [
IRBK I|RBK J|RBK |R K [R K IR K JR K |[R K |

25 g7 nf5x gf=N kcé Nf5 rh3y Ne7 ked> Ne6 kb4 Ncé bc £f8=Q c5 <c¢3 kb3z

| PP P | PP P | PP P | PP P | PP P | PP P | PP P | P P
IR K'l IR K IR K IR K IR K IR K IR K IR K

| r | N N | N | ! i Q | Q |

lpppk PP |ppp P Ippp P Ippp NP Ippp NP Ipp P ipp lp p 1

| rl k rl k ! | N I p N | N | N

I n | n | N | k | | I p I p |

|P Np N{P Np N|P Np |P Np | PkNp | PkNp | PkNp |P Np |

| P pCR{ P pCR] P pCr| P pCr| P pCr| P pCr| P pCr| kPP pCr|
|
[

| PP pCr|N Pk pCr|N P pCrIN P PpCN
| Pk P | P P | P p | P P
IR K [R K |R K IR K

99

33 b8 (©) Na3 kd3 Nf4 ked Nh3 1-0 o, Owa B B x 1o RYT Wes ket W4T 4L
----------------------------- 08 kﬁ; kJr k9t Rel Keb Re?
e {Q {Q :Q 'qﬁﬁ%; Rip Ry1) Ring Reg [
lp p pp PP PP | ﬁ/‘h?“‘- — MAY ,1\‘5'}‘(‘{%&#!
| p " P " P { P | Nty ot e TN

o vt "
/P Np  IP p P pkN [P pk | (g4f ¢ Rect, w47
|
|
|

x  Black thinks a kill is at hand, but this move loses "quickly".
y If the king were on c8, White could win, as here, with g4:
28 g4 rhl 29 kd2 ral 30Q@§§ kb8 [... ra4 31 Nd7!] 31. Nd7 ka8
32 Ncb6 cb 33 Nb6 then 34 f8=Q 1-0.
z 32 ... dc loses to Qc5, Qa3, Ne3, Nf4.
J

bIvawg

8/05/96 - GS-AR - Cg2 - 1. d4/e4 (= White's two first moves) .
Black misses a quick win, then falls for a trap, losing two pieces.

1 ... 495 e5 eb Be2 Nc6é h3 N3e7 Bg5 h5w h4 bhoé BhS bg5 hg ngé

| rnbgkbnr | rnbgkbnr|r bgkbnrir bgkbnrlr bgkbnr|r bgk nr|r bgk nrlr bgk nr]
|pppppp PlPPPP P PIPPPP P PlPPPPRP PlpPPPRP |PPPPNP  |PPPPNP  |PPPP P |
|

| p | np | p | p | p bl p pnl
| p ! P p | Pp Pp | P Bpl P Bp] P bB| P PB|
| PP | P ! P f P | P | P P P Pj P !
| I | I Pl P | ! I

|PPP PCP|PPP PCP|PPP BPCP|PPP BPC |PPP BPC |PPP BPC {PPP  PC |PPP PC |
| RNBQKBNR | RNBQKBNR | RNBQK NR|RNBQK NR{RN QK NR|RN QK NRIRN QK NR|RN QK NR|



9 0g4 nle7 Nc3 b6 Rh3 bb7 Nf3 bs 000 b4 Ned NdS Bg6 rh3 Qh3 nf4x

lr bgk rlr bgk r|lr gk «x|lr gk rlr gk rlr gk rlr gk lr gk |
lppppnp |p ppnp |pbppnp Ipbppnp |pbppnp |pbpp p  Ipbpp p Ipbpp P |
| pnlp pnlp pnl pn| pnl pn| p B | p B |
PP |

|

| P PB| P PB| P PB| p P PB| P PB] nP PB| nP P |

J P Q| P Q| P Q| P QI pP Q! pPENQ | pPNQ| pPNn

1 | N | N RI N NRj| N NR| N R| N rj N Qf
[PPP PC |{PPP PC |PPP PC |PPP PC [PPP PC |PPP PC |PPP PC |PPP PC |
IRN K NRIR K NRIR KN |R K | KR [ KR [ KR | KR I

17 oh8 ke7 Qf6 ke8 Bf7 kf8 Qf4 ge7 g6 kg7 Rh8 rfﬁ' N3g5 bed Ned rf7y

lr g Qlr gk lr gk Ir k |r [ r | r | [
pbppkp |Ipbpp p Ipbpp B |pbppgB |pbppgBk |pbppqBk !p ppqBk |p ppgrk |
! p B | pQB | pe | p [ p P | p P I p P p P |
| PP | PP | PP | PP | P | ‘P | P N | P

[pBNn | pPNn | pPNn | pPNQ | pBNQ | p PNQ | p PbQ | p BNQ |
I N | N | N N | N | ‘N | |
|pPPP  PC |PPP PC {PPP PC [PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |
| K% | KR | KR | KR | KR | K Rl K R| K R|

25 Rh7 kfBz Rf7 qfly gf d6  Qf6 d5 g4 mates

| [
|PPP PC |PPP PC |[PPP PC |{PPP PC |PPP P
| K | K K [ K | K

| k| k| k| k| k| »
lpppar Rlpppq Ipp P Ipp P Ipp P | ®
I p P p P pp | pQ | pQ |
| P | P | P i pP ] pP [
| p BN | p PNQ | p PNQ | p BN [ p PN C | .

| !

] |

! [

S

The kibitzers were pushing for ng6, Bd8 nf4, but with no convincing
line put forward, Black settles for a slower ésgault. The quickest
win after g3 seems to be ne7. koY

Falls for the trap. White draws after fg with QhB

Black thinks White can't mate with about 4 seconds on his clock. Oops.
kg6, Qh6 kf5, £6 would have mated even faster.

Ken o¥burd ne

& e %

{

Y

8/16/96 - GS-RC - Cg2 - 1. d4/ed (= White's two 4. st moves).
D White misplays a good position, but Black telegrapﬁs his 1ntent10ns

1 ... dé6 Bf4d nd?7 hd g7 Nf3 h5 Qd2 Bh6 Ng5 néfs B43 Qd7 - Qe2 Qg4

- ——— v — . o ——————— ————— - o — = o - - P P - ————————

| rnbgkbnr|r bgkbnr|x bgkbnrir bgkbnr|r bgk nrjr bqk trlr b kX nrir b k nrj
Ippp PPPP | PPPRPPPP | PPPRPP PlPPPNPP | pPPNnpp ngp Pp- Ipppapp Ippp pp |

2 | p | p p | p p | p pbl p npb| p npb| p npb|
l | | I pl pl Np | Npl Np|
i PP [ PPB | PPB P| PPB P| PPB P| PPB P| PPB P| PPRGP |
[ | | | N | N | i B ! B ]

|PPP PCP|PPP PCP{PPP PC |PPP PC |PPPQ PC [PPPQ PC |PPPQ PC |PPP QPC |
| RNBOKENR|[RN QKBNR|RN QKBNR|RN QKB R[RN KB R|RN KB R|RN K R|RN K R]



9 Qg4 bg4 N1d2 bg5 hg nd2  £3u h4  fg h3 Cg3 h2 Bfl 000 Nf3v f3

lr k nrir kK nrlr Xk nrlr k nrir k nric k nr| kr ngl kr nr|
lpPp PP "!pPP PP |pPppnpp Ipppnpp |Ipppnpp IPPPnpp |pppnpp | pppnp

|
| p npb| p np | p p | P p | p p | p p i p p p pp |
| Np| bp| Ppl P | P | P | P | P |
[ PPBbP| PPBbP| PPBb | PPBbp]| PPBP | PPBP | PPRP | PPBP |
| B | B ! B | B P | B pl B C | C | NC |

{PPP  PC |PPPN PC [PPPN PC |PPEN C [PPPN C |PPPN p|PPPN pl|PPP pl
[RN K RIR K RIR K RIR K RIR K RIR K RIR KB R|R KB R|

17 Rh2 fg Be3 nlfé Bd3 ng4 Kd2 rh2w Nh2 nféx Be2 nh5 Bg4 kb8 Bh5 hb5y

—— e e e e e e e v = e v ————— ot - la s A b v ———— = ———— A# " v v ———

| kr nr| kr r|l kr rl kr ]  kr |  kr | k r | k r

| pppnp | pPPRP | pppnp | pppnp Ippp P Ippp P IppPP P IPPP P I
I p p | p np | p p | p p i p np | p p | p p | p |
| p | p I p | p | p | pnl pn| ppl
I PPBP | PP P | PP n | PP n | PP n | PP n | PP B | PP

[ NC | BNC | BBNGC | BBNC | BB C | B C | B C | B C |
| PPP R|PPP R|PPP R{PPPK r{PPPK N|PPPKB N|PPPK N|PPPK  M!
IR, KB R KB |R K IR IR IR IR IR

““““““““““““““““ DT e AT S R G T W
25 Bg5 rg8 Nf3 h4 Cg4 h3z Notes u-z: N})I‘ 5, .. _7") @5" [\"{Jeﬂ,tfl,l"o X BA ¢

k rl k ri k r
ppp P ippp P lppp P

u A risky move, but White must take chances
v A big mistake. Kf2-g2 Rh2 was safer.
w
X

{ [

| |

P i p [ p | nh2 (kibitzers), but Black sees a win

| Bpl B | B | Black announces that nh4 can't be stopped,
[ PP | PP pl PP C | so why slow down the win with nh2?

| c | NC | N pl [He misses ne4 by sheer momentum.]

| PPPK N| PPPK | PPPK | y The rook and Pg5,Ph5 aren't enough to draw
IR IR iR | =z White: trade rooks, or promote a pawn.

mmmmmmmm —— e — o Black: keep White busy by opening files. |
S ARS8l R Gt o RS (BLY K31 RAS, ULy~ 13, Byt RFs, Wem REG B W D ontmgocaild,
Brd =i g4l ae? of | é.qﬁw LW wrts RUL Hh | RIg HEE BB en () SO TR s ad;
i& 9/06/96 = GS-PL ~ CgZ - 1. c4/d4 (= White's two first moves). ﬁﬁﬂ**dQ
Black falls behing in development, and falls .. '
Y g N3G RN kAl sl did Jk B €€ !
1 ... ¢c5 dc gab Nc3 qc5 ed4 gb3 Qf3 e5 Bd3 nh6 Nd5 bb4 Kdl ga5s

| rnbgkbnr|rnb kbnr|rpnb kbnr|rnb kbnr|rnb kbnr|rnb kb rirnb k xr|lrnb k rf
Ipp pPPPPPIPP PPPPPIPP PPPPPIPP PPPPPIPP P PPPI!PP P PPPIPP P PPPIPP P pPPPI
| I |

q I q I q n| g nj n|
| p lq P R | | i p I p | Np lq Np i
| PP | P ] P | PP | PP I PP | bP P | bP P
| | I N | N i N @ | NBQ | BQ [ BQ |

PP PPCP|PP PPCP|{PP PPCP|PP PCP| PP PCP| PP PCP|PP PCP| PP PCP|
[ RNBQKBNR|{ RNBQKBNR|R BQKBNR|R BQOKBNR[R B KBNR|R B K NR[R B K NR|R BK NR]|

9 0g3 nct Qg7 rg8 NE6 kdB Ng8 ng8 Qg8 kec7 Qf7 kb6 Ne2 d6 h3 ka6

fr bk rirb kr lrbk rilrbk nlrb Q lrb lr b lr b |
Ipp P PPPiPP P PQPIPP P POPIPP P PQPIPPKkP P PIPP P Q PIPP Q PipPP Q pl
| n ni n nl n Nn|l n | n | kn [ knp 'k np [ i
lq Np lg Np lg p lga p la p la p lg p la p | :
| bP P | bP P | bP P | bP P | bP P | bP P | bP P | bP P i ?
| B Q| B ! B | B | B ! B | B | B P| )

i PP PCP| PP PCP| PP PCP| PP PCP|PP PCP| PP PCP|PP NPCP[PP NPC |
fR BK NRJR BK NR|R BK NR|R BK NRIR BK NR|R BK NR|R BX R[R BK R|




17 ¢5 bb a4 deb ab5 kb6 Ra5 ka5 bct flag

lr b lr b lr b fr b jir b | After 10 Qg7, it may
Ip Q plp Q plp Q plp Q0 pip Q p! already be a win for
|k np [k n | kn | n | P | White

lapP p lapp p |gPp p lkPp p Ik pp |

| > P |Pb P |b P | b P | b P |

| B P| B Pl B P| B Pl B P
|[PP NPC | P NPC |.P NPC | P NPC [ P NPC |
[R"BK R|IR BK RIR BK Rl BK Rl BK RI

9/26/96 - GS-DM - Cg2 - 1. d4/ed4 (= White's two first moves).
Black uses the mate defense for an (over-)extended period.

( 1 ... hd h4 g5s BgS f6 Bf4 Nh6é Be2 Ng4 Bg4 hg Qg4 Nc6 Ne2 b6

| rnbgkbnr | rnbgkbnr | rnbgkbnr]rnbgkb r{rnbgkb rlrnbgkb rir bgkb rlr bgkb r|
|pppPPPP |PPPPPP | PPPPP | PPPPP | PPPPP [ PPPPP | PPPPP |p PPP I

! I | p | p ni p | p I n p | pn p |
| pl ppl Bp| pl pl | |
| PP | PP P| PP P] PPB P| PPBnP| PPRpP| PPBQP| PPBOP|

I I | J | ! I ! I
|PPP PCP|PPP PC |PPP PC |PPP PC |PPP BPC |[PPP PC [PPP PC |[PPP NPC |
| RVBQKBNR | RNBQKBNR| RN QKBNR|RN QKBNRIRN QK NR|RN QK NR|RN K NR{RN K R]

9 Nd2 ba6é c3 qc8 Qg6 kd8 hS gb7 hé bhé Bhé rg8 Bg7t be2 Ke2 gaéb

lr gkb rlr g kb rlr gk b rir k b rlr k rlr k¥ rlr kX r Jr k

r
iPp PPP lp pPPP ip ppp [ papPp [ pappp | papPP |pappp B |p ppp B
ijbpn p |bpn p |bpn pQ ibpn pQ ibpn pQblibpn pQB{ pn pQ lgpn pQ

|
|
!
| | | | Pi I | | |
| PPBQP| PPBQP| PPBP| PPB | PPB | PP | PP | PP
| | P | P i P { P [ P | P | P
|PPPNNEC |PP NNPC |PP NNPC |PP NNPC |PP NNPC |PP NNPC |PP NbPC |PP NKPC |
IR, K RIR K R|IR K RIR K RIR K RI[R K RIR K RI|R R|

17 Ke3 gb5 b3 a5 a3 na?7 cd gcb Rh8u b5 Rcl gb6 c5 gcé d5 ga6
lr k rlr k rlr k r|r k r |r k rRlr k rRir k rR[r k rR]|
lp ppp B! ppp B In ppp B |n ppp B In ppp B |n ppp B [n ppp B [n ppp B |
' pn PQ i pn PR I P P | pg PRI g PO | g pQ@ | g pQ Iq pPQ |
I q ipg Ipq Ip lpp Ipp |ppP | PpEP |
| PP | PP ! PP | PPP |  PPP | PPP ! PP ] P |
! P K | PP K |PPP K PP K PP K PP K [PP K {PP K [
|PP N BPC |P N PC | N PC | N PC | ~°N PC | N PC | N PC | N PC |
iR RIR RIR R|R RIR | R i R ]l R [

25 Nf3 rb8 Neb5 b4 a4 nb5 Nf7 ke8 Ndév kd8 Nb5 rb5 ab gbd Bféw rh8

- . o o ae A e ot - —_—— At — - —————— 7= =y = A - — ———————— v o o o A ek A A -

! rk rRl r kX Rl rk rRl r k rR| r k rR] k R} k rR{ k x
inppp B Inppp B | ppp B | pppNB | ppp B | ppp B 1 ppp B | ppp

I

I

lq pQ lIq pQ tq PQ g pQ g N pQ iq pQ | pQ | BQ |

| ppPP Ilp PPN |pnPPN | pnPP |pnPP |prPP | pgPP | pgPP I

[ P i p P |Pp P |Pp P |[Pp P |Pp P | p P i p P I
{[PP KN |PP K I P K | P K | P K ] P K ] P K I P K

PC PC pPC | PC | PC |

[ [ |

[ PC | PC | PC
|



33 Bh8 a4 Qh5 ab Qe2 ga4 Bb2x ga7 Qc4 ga8 Ral gb8 e5 déy cd ed

| k BJ k Bl k B} k lqg % | q k lgak "1 gk !
| ppp [ pPpp |  ppp la ppp | ppp | ppp | pp [ p I
| Q| | ] | | i p I p [
| gPP | gPP Q] PP | PP | PP ! PP | PPP | PP |
lpp P | p P lgp P | p P | pOP | pQP | po I pQ i
| P K |p X I'p K Ip K |p K |Ip K |p K |p K |
| PC | PC | QPC | B QPC | B PC | B PC | B PC | B PC |
| R I R | R | R | R IR IR IR

At ot MR ot o At L o b ot o e oy Y Wy v S S B

---------------- s Black overplays opening the kingside.

| q | q | t The rook is keeping the bishop and queen busy.

| pk | p k | u Now the queen is available.

[ pP | pP | v Squeezing Black is more satisfying than the rook.
| P | P | w Typical maneuver for stopping the mate defense.

{ pQ | p Qi x Ooops. Ral won quickly.

il p K | p K | y At last Black must abandon the mate defense.

| B PC | B PC | z Black's queen is lost.

IR " IR |

9/30/97 - GS-AR - Cg2 - 1. Nf3/h4 (= White's two first moves).
Black gets overly frisky with his king, and a swinging knight mops up.

1 ... g5 hg nf6 d3 rg8 Nh4d b6 ed4d Bb7 f4 eb Nd2 hé g6 fg

| cnbgkbnr| rnbgkd r|rnbgkbr [rnbgkbr |rn gkbr |[rn gkbr |rn gkbr |rn gkbr |
IlppppPPP PiPPPPPP PlPPPPPP PP PPPP Pipbpppp plpbpp P PIpbpp P |pbpp I
| f n | n | p n Ip n |p pn | p pnplp pnppl
! p | P | P | P | P P | P |

) Pl | ] NI P Ni PP N| PP N| PP N|
! N N | PN | P I P I P ! P | P
|PPPPPPC |PPPPPPC |PPP PPC [PPP PPC |PPP PC |PPP C |[PPPN C [|PPPN C |
| RNBQKB R|RNBQKB R|R BQKB R[R BQKB R|R BQKB R|RNBQKB R|R BQKB R|R BQKB R|

8 Be2 g5 Bh5 ke7 Ng6b kd6 Nc4d kc5 a4 kdd4 3 kc5 b4 kc6 NceS kdb
|rn gkbr jrn g br |rn g br |rn g br |rn g br |lrn q br [rn g br |r n g br |
| pbpp Ipbppk  |pbpp | pbpp I pbpp | pbpp | pbpp | pbpp i
} p pnpl p pn pl p kpnNp| p pnNpl p pnNp| p pnNp| pk pnNp| p kpnNpl|
| p | pB| pBl k  pBli pBl k  pBi pBI N pB|
| PP N| PP N} PP | N PP ||P NkPP |P N PP |{PPN PP |PP PP
i P | P I P | P | P | PP | PP | PP |
JPPPNB C |PPPN C |PPPN C |PPP cC | PP cC| P Cc | c | C |
IR BQK R|R BQK R|/R BQK R|JR BQK RIR BQK R|R BQK R[R BQK R|R BQK R]

17 Nf7 kc6 Nd8 kdé Nb7 kcé Nd8 kdé e5 kd5 Qf3 ned4 c4 kd4d Qed ke3
|lrn @ br |rn N br |rn br jen N br |rn N br |rn N br |rn N br jrn N br |
lpbpp N Ipbpp | pNpp 'p PP lp PP lp pP lp pP ip pp I
| pk pnNp! p kpnNp| pk pnNpl p kpnNp| p pnNpl p p Npl p p Npl p p Npi
] pBI pBI pBlI pPBI kP pBji kP pBI P pBi P pBj
{PP PP |PP PP |PP PP PP PP |[PP P |PP nP |PPPknP [PPP QP |
| PP | PP | PP | PP | PP | PP Q | PO | kP l
[ C | C i o C | C | (o3| C | C |
[R BQK R|R BQK RJR BQK R|R BQK RIR BQK R|IR B K RIR B K R[R B K R



R

25 Qa8 nc6 Nc6 c¢c6 Qf8 rf8 Nf8 mop

|Q N br |Q br | r | N | Black missed a good shot:
lp PP lp p Ip p lp P [
| pn p Npl pp p Np! pp p Npl PP P Pl 9 Be2 g5, 10 Bh5 ke7,
i P pB| P pB| P pBi P pB! 11 Ng6 kf7! after which
|PPP P |PPP P |PPP P {PPP P | the Black king finds
| kP | kP [. kP | kP | a haven in the corner.
[ C | C | Cc 1 Cc | *

|

IRBK RIRBK R{RBK R{RBEK R

Can White mate quickly?

| When time is running out, White needs a mate, not a mop.
p Q | A quick mate follows Qe7 kh6, Nf5: a] kh5, Qh7 kf5, Qh6
|

P or bl kg6, Qg7. If Qe7 kh5, Qf7 a] khe, Nf5 kg5, Qf6 or
b n NJ
P|
r PCK|

i
I
I
| PP k | b] kh4 or kg5, Qf6 or c] ng6, Qgb.
|
I
I
I

9/10/99 - GS-AR ~ Cg2 - 1. f4/h4 (= White's two first moves).

Black is late in opening the g file.

1 ... b6 ed bb7 d3 g6 Be2 £5 Bf3 nf6 e5 ng4 Bbk7 nc6é Ba8 qgal

| rcnbgkbnr|rn gkbnrlrn gkbr |rn gkbnr|rn gkb rirn gqkb r|xr gkb riq kb x|
|p ppeprp ! PopppPPP ! pbeppp Plpbppp pipbppp PipbPPp pIpPBpPp PiP PPP P

I p l'p I p plp plp nplop plpn plpn pi
! i ! . | p | p | Pp | Pp | Pp |
| P P! PP P| PP P| PP P| PP P| PnP| PnP] PnP|
! | | P | P ! PB | PB | P ! P I

|PPPPP C |PPPP C |PPP C |{PPP B C |{PPP C |PPP C |PPP C [PPP C |
| RVBOKBNR | RNBQKBNR | RNBQKBNR | RNBQKBNR | RNBQK NR|{RNBQK NR|RNBQK NR{RNBQK NR|

9 Nf3 nd4 Rh3 bg7 ¢3 nf3 gf3 c¢6 Ke2 h6 Be3 e6 d4 Ke7 Nd2 g5
e kb rlqg k rlg k rlg k riq k rlg k rlqg rlgq r|
lp ppp Pplp ppp bplp ppp bplp pp bplp pp b lp p b Ip pkb ip pkb |
| p plp Pl p plpep PpipPp PPl PPP PPl PPPPPI PPP PI

| Pp | Pp | Pp | Pp | Pp | Pp | Pp | Ppp |
| n PNP| n PNP| PNP| PNP| PNP | PNP | P PNP| P PNP|
| PN | P N R| PP n R| PQR| PP QR| PPBQ R| P BQ RI P BQ R}
|PPP C |PPP C |PP C |IPPP C |PP K C |PP K C (PP K C |PP NK C |
|RNBQK R|RNBQK | RNBOK IRNB K |RNB | RN | RN R !

Iq x| qr| qr] qr| q | q q | q |
ilp pk b ip pkb |Jp pk lp pk Ip pk Ip Pk lp pk Ip pk !
| pP P | PP P | pp P bl pPPpP bl ppp rlppp Rl P P Rl P p PR|
| Ppp | PpP | PpP | PP | PP | PP| pPP| P
| P PN | P N | P N | P p | P p P | P I P
| PBQRf PBQR| PBQR| PB Rl PB | PBp | PBNp | P BNp |
|PP K C |[PP NK C |PP NK C |PP NK C |PP NK C {PP NK C |PP K C |PP K C |
|

{R IR ] R| R| R| !



A

R

. ke, 4
25 Bg5 ke8 Bf6 1-0 g7 gﬂuy It}

———————————————— Until the last move, the game was still/ on the line.

] k gt k q | If carelessly 26, cd instead, d5 drays for Black.

lp p p P | B.g., 26 cd d5, 4#d kd7, Bf4 Qf8, Rh7 , B> qf5, Re7
| p p PRl p pBPR| kb5, 32. §7 qed/draws: Kdx qgé 0-1; Kfl gbl, Nel qed4 =;
| P B | P | Kf2 gbl, Nx ged =; Kf2 gbl, Ke2 ghl 0-1. Indeed any

| p | p | move But 32 ... ged4 loses. E.g., 32 ... gbl, g8=Q ghl,
| .BE Np | P Np |' 34 Qe8 wins: one tale is 34 Qe8 ka6, Qc8 kb5, Bal

|[PP K C |PP K C | kb3, Re3 ka2, Oc4 kbl, Rcl kb2, Rec2 ka3, Bb4 ka4,

| [ |

Bd2 ka3, Rc3 kb2, Qb4 ka2, Qa3 kbl, 46 Rcl 1-0.

If Black avoids check with the a-Pa@wh he lasts longer:

34 Qe8 ka6, Qc8 ka5, Bel ka4, Rc4 kb5, Rb4 ka5, Rb3 ka4, Ra3 kb5,
Qd7 kc4, Qe6 kbS5, Qd7 kcd4, Rad kdS5, Qb7 ke6, d5 kf5, Qd7 kg6,
Rg4 kf6, Rf4 kg6, Qf7 khé, Rhd4 1-0, captures Black queen move 52.

The Curious Case of the Cloistered Cappy

| It might seem that White is lost on the left, with |
{ so many lines open and the cappy moved. Yet Nh2 [
| draws. After kel, Bf3 rb3, Kg2 rb2, Kgl rf2, Bg4 |
| rf8, Kg2 rg8, Nf3 ke2, Nh2 etc. And Ke2, Bf3 ke3, ]
| kg2 is no better. After rg8, Bf3 kd2, Ng4 rbs, |
| Kf2 rb2, Kfl we arrive at titled CCCC position |
| on the right. Not only is the cappy cloistered, }
| but sc is the bishop: neither have to move again. i

Pawn Endgame
———————— Black to move wins, but not with kf3, Kh7 ke3, Kg6 kd3,
| Kf5 kc3, Ked kb3, Kd3 ka3, Kc3 ka2, Kc2 a3, h7 draw.
Kp| The win is by forcing Ch7 before capturing ka3:
C| kg4, Kh7 kh5, Kg7 kg5, Kh7 kf6, Kg8 kg6, h7; then
White has no tempo move after a3 above, so loses.
| White to move draws: Kh7 kg4, KgB8! grabs distant opposition.
k | Note kg4, KgB8 kf5, Kf7 (opposition) loses the race.
I
I

9 'O

With the g,h pieces one square down, Black to move can only
draw since forcing the cappy to move costs the opposition:
———————— kg3, Khé kh4, Kg6 kg4, Khé kf5, Kg7 kg5, hé = as above.

After the "opening" ed4-nc3 e5, nf3 £6, ne5 e5, Qh5 ke7, Qe5 kf7, Bcd kg6,
Qf5 khé, d4 g5, hd kg7, Qf7 kh6, Bg5 qg5, g5 kgd we arrive at:

[rnb bnr| Rh5 kg4, Rh4 khd [kg5, Qf5 kh4, Cf3], Qf5 bdé [mate in 6].
lpppp Q Pl f4 kg4, Qf5 kg3, 0-O any, Rf3 any, Cg3 [mate in 5]j.
! | Rh5 kg4, Qe8 [or Qg6!] any, Be2 kf4, Cg3 (mate in 4].
| With the Pf2 and Cg2 switched,

| Rh5 kg4, Ne2 bb4, Kfl any, C£3 [mate in 4].
| N | Other tempting lines, which allow Black to "escape":

| After f4 kg4, kf2 nf6, Be2 kf4, Rh3 rg8, Black escapes.

| After e5 hS5, Black escapes.



Almost a win for White 2 Rg3 rh2

| Black is to move in the following position.
| It is easy to see that if Black can trade

] his rook for the pawn, the game is drawn;

| if the cappy were on the fifth rank White
|
l
|
!

sixth rank for safety. After 1. ... rg2
2. Rg3 rh2, how is White to continue? Black

| |
| |
| [
] |
could mate, but he has been forced to the | B |
| |
| [
threatens rh7-g7-g6. Call this position A. [ [

After 3 Rec3! rh7, Rc7 rh5+ we have position B (shown later}.
To see how White can lose, consider instead

3 Rc3 rg2 £7+ kf8 ReB+ kg7 Bed+ khé £8=0 kh5 0-1

f k | k | R | R | R @ | Rc8+ was the losing move.

| | P | Pk | P | { Had Black played 4 ... kh8

| » PC | c | C | Ckl| ¢ | then Rh3+/Be5+/Rh8+/f8=0+

! K | K | K | BK | BK k| 1-0. After 4 ... kg7

i B | B | B | | | [or 4. ... k£8, Bd6+ kg7l,

! R | R | | [ | BeS5+ khé [k£f8, RcB+ ke7,

| r | r | r | r |} r | f£8=0+ kd7, Qdé 1-0] we

| | | { i | arrive at the following.
BeS+ kh6 . Rg3 rh2 Rc7,rh5+ Bg3 kg7 Bf4 kg7

] | The obvious 6. f£8=Q+ i k | k | | |

| P | only draws(!}: kh5 | | R | Bk | Pk |

| ck| then 7. Bg3 rf2+ =, | PC | PC | C | Cc |

| BK | or 7. Rg3 rxg3 =. | K | K ri K | K |

| | Tries for 1-0 are | B | B | ] B |

| R | 6. Bg3 kg7 {C) and | R | | R B | R |

| r | 6. Rg3 rf2+ forcing i ! | r | r

i | 7. Bf4a+ kg7 (D). 1A. |B. |C. |D. |

What is the value of positions A-D? Subsequent positions can be complex.
Starting from A, 3 £7+ kE£8, Ke6 rh7? [rhé =], Bdé+ kg7, 6 £8=R rh6,

Rf7+ kg8 = {not kh8, Bel+ kg8, Rg7+ kf8, RE3+ ke8, Re7+ kd8, Rd3+ ke8,
Rc7+ kb8, Rh7+ 1~0 wins with the swinging rook]. If instead of 6 ... rho6
Black tries (eg) rhl, then Rf7+ kg8, BeS ylields position E.

after 8 Bed Rgh3 rfl
| k | Black must vacate the h file as ] k |
| R | Rg7+ kh8, Rh7++ wins the rook, and | R|
J K C | Rg7+ kf8, Rf3+ yields the swinging | KC |
| B | rook as above. 8 ... rel sets the | B |
| | trap Rh3 reS+, Ke5 stalemate. ] |
| R | Then 9 Rg7+ kh8, Rh7+ kg8, Rgh3 | R{
| | threatens the swinging rook, but ! |
|E. r| 11 ... rfl seems to foil that plan. [F. r |
Starting from B, Bg5 rhl almost loses to £7+. Note ... kg7, Bf6+ kh6
[kf8? g7 mate], £8=0Q+ kh5, Qe8 1-0. [If Rc?7 is on <8, then after Qe8:
rfl, Keé rel, Be5 rgl! Black draws.] Or ... kf8, Be7+ kg7, Bf6+ ditto.
But ... kh8!, Rc8+ k£f7, Be5+ etc. With White to move after Bgd kx8,

is there a file x so that White can force a win with the bishop pinned?



| K | ko | k| | x|
| R 1 R P | R Pk | R P | R Pkr| R P |
! PC | c | c | c | c | c |
! KBri KBr| KBr! KBr| KB | KB |
r | | | | | |
| | | | | : |
| . | I | | r r
| ¥ |A. IB. |C |D | E. r|

From *, all Black rook moves lose, so: 1. Ra7 kf8 or h8 threatens rhl,
so: 2. £7 ? . The question is with Black to move, from which positions
A,B,C can Black safely move the rook? * or A none; B rh7; C rhl,rh2,rh3.

*: rh8, £7+ kg7, Bf6+ kf8, g7m 1-0.
rhl, £7+ kf8, Be7+ kg7, Bf6+ kh3 [kf8, g7], £8=Q+ kh5, Qe8 rcl+,
Ke6 rel+, Beb5 rgl, Rh7+ 1-0. Note if instead of Be7+, Rc8+ =.
A: rh8, Rc8+ 1-0.
rh7, Rc8+ kg7, Bf6+ kh6, Rh8 kh5, Bg7 1-0.
thl see *.
B: rh8 or rhl see *.
rh7 is position D.
C: rh7, Rc8+ kg7, Bf6+ see *.
rh6, Rc8+ 1-0.
rhl is position E.

There appears to be no win for White from the initial position.

White, to move, to avoid cappy promotion must concede the pawn.

| | ! | | [ K| K|
| | i K| K| kCK| C | kCP|
i Kl kCK| C | kCP| Pl kP| |
i kCP| P| kP| l [ | |
! I g6 is | Kh7 is | hé by | g7 is | Kh8 is | h7 by |
i | forced | forced | choice | forced | forced | choice |
! [... kf6 |... kg5 [... kf6 | k€7 |... kgé | kf7 |
[ [ i | | | | 0-1 |

| | JLine A: | | | {Line B: |

I | | | | | c | |

| | | (ol CK]| CK]| K| kC |

| K| kCK | K| ! P P| K|

| kCP] P| k P| kP| ki k | P

I lafter | | | | [ |

| g5 any, |A..,., kf4| | | Kgé6 = [B... kf6]

[ | Kht = | ! ! | | Khe = |

| | | Black to move. From the above we find that

| } | A: kd4 loses after Kg4, but kf3 draws as above.
| | K| B: kd3 draws after Kg6, but kf4 wins as above.
| p K| P| Another way to draw after A. k£f3, g4 kf4,

I Pk Pl pkC| g5 k£f5, Kh6 kg4, Kg6 kh4, KEf5 kg3, he6!

| cCy| P | After kf3, g7; after kh4, Kf4; after kh3, Kg5.
| |

I |



Pawn + Cappy

When do P+C win?
as can't mate with Ce or promote with Pa,Ph.

The only cases of interest are Cf-h and Pb-g,

Let the C,P be on rank i,

1<i<7, separated by j files [j=0 was P6 abovel, and the K,k be in
opposition, between the C,P on ranks i-1 and i+l with Black to move.

Aside from P6, the only cases which win are j=

1,i<6; j=2; and j=3,i=6.

The surprises are: White to move doesn't help, and j=3,i=5 is a draw.

§=1,i=6 is a draw as | xkx | is a draw with White to move.
| xxx |
[K any, k attacks P; | PKC | K defends, k straight back, etc.]
[§=3, i=6 wins as Black must approach P from the 8th, and White
can select the tempo, and so promote without moving the cappyl

When queen vs rook may not draw

| | Consider the 1-0 position A) on the left. | k K |
[p pNk | Black's rook is hopelessly out of place. lp PN |
| P | With his king on e7 or d8, ra6 loses to Nb8. | P |
[r PPK pl The quick win is 1. Kf5 kd8 2. Kf6 keS8 lr PP pl
| Pp C{ 3. Kgé ke7 4. Kg7 kd8 5. KfB kc& leads | Pp cl
| P | to position B) on the right. It might seem | P |
| | that 3. e7 kxN 4. Kf7 was a shorter route f |
|A) | to 6. e7 kxN 7. Kf7, but rcb may be 0-1! | B} |
Kf7 rc5 e8=Q kd6 QdB ke5 Qg5 kdd* Qd2 ked Qg2 kf4

i i Q ] Q i | | |

Ip pkPK Ipp K Ipp K Ipp K lpp K Ipp K |

| | k ! i i | !

| P pl P pl rxPk p! rP Opl rP pl P pi

|Pp C|Pp C|Pp ClPp k Clpp k ClPp k C}

| P | P i P | P | P | P

[ | | | | Q | Q |

| | | ! | [ I

Ke6 rc3 Kf6 rg3 Qxr kxC Kg5 kf3 Kf5 ke3 Ke5 kd3 d6 cd 0-1

| | ! i | | | |

Ip p lp p Ip p Ip p Ip P lp p Ip I

| K | K | K | | I I P [

| P pl P p! P pl P Kpl P K pl PK pl K pl

| Pp k ClPp k CiPp ClPp C|Pp C|Pp C|Pp (of}

| Pr | P r | P k| P k | P k | Pk | Pk |

| Q| Q | | I | I 1

| [ | [ | i | |

If ghl instead of Qxr, then rg4 and White hasn't a perp.

From B) the win is 6. Ne5 rc5 7. e7 rd5 8. e8=Q rd8 9. Ke7 rxQ

10. KxR then the K+N win the a,b,c pawns and promotes a pawn.

* Better for White after Qg5 kd4 was Ke6, which probably draws.
But rc3 still presents problems as the White pawns are weak.



Ik |
Ippp P K |
! PC |
! R |
! N |
| |
| l
| r [

How does White win this game? Kf8 ral, £7 ra6 only draws.
Idea 1: Masking the e-pawn with the N doesn't seem to work:
Nh5-Nf7-Nd8-Kf7 rhl, 1. e8=Q rh6 2. Nb7 kb7 3. Qed c6 is
only a draw! Or 3. Qb5 kc8, Qa6 kdB8 =. Or 3. Rb5 ka6 =.
Idea 2: Trade the e7 and R at h8 for r: RhS rgl, Rh4 ral.
£7? rad wins; Rh5 rgl repeats; Ne5 rgl, Rg4 rhl stops £7.
Idea 3: Re5 rgl, Red ral, £7 ra6, Nf6 and Rg4 wins quickly
with e8=N then soon £f8=Q.

Idea 4: £7 re7, Nf6 rf7, Kf7 wins by a slimmer margin.

A typical escape by White

| r{ After 1. Nfl, Black wins quickly with rg8, threatening both
lrp k pl bd2 and bh7. Instead he took the direct approach bh7:
| p | Nfl bh7, Rd2 nfd4, Cg3 nh5, Bh5 h5, Rd5 ke6, f4 ef, Cf4 rg8,
lp p nl Ne3 raa8, Kf2 rac8, Rhdl rcf8, Re5 kf7, REf5 Kg7, Rdd5 khs,
| P Pb P| Rf8 rf8, Rf5 rd8, Nd5 rg8, Nf6 rc8, Rh5 rc7, Rab5 rg7,
| P B | Na5 kg6, Kf3 flag.
| PN PC |
| RK R|
Mating with double check
| ] Minimum material seems to be N,B,R,R,C vs p. |m. next |
| | With room to maneuver [cappy on ranks 3-5, | B |
| R | files e or f], White mates by blockading the | R N |
| kpK| Black pawn on an adjacent file with the N on | kpK|
| N | a color opposite that of the bishop, forces | |
| C | the pawn to advance to the N, places his | c |
| | king next to the pawn, and hems the Black | !
| BR | king into two squares as on the left. Then | R |
———————— the mate is Bab kf4, Bc7 kf5, Nfé g4, Cg5. ———————
We compress the above position to the next diagram.
The cappy is on any of the files c-f and ranks 2-5. XXX* XX
The central bishop diagonal has been marked with *'s. *kpK
The other rook is on any square marked "x" or "." . B *N
For the notation that feollows, C is on £5. C*
1 R *
After kf6, it takes a while to hem in the king:
Re8 kg5, ReS5 kh5, Bc? kg5, Rh4 kf6, Rgd k£7, Rf4 kf6, Bd8 kf7,

Re7 kf6, Re6 kf7,

Ne5 kf8, NdA7 kf7, Reb mates next. Position 1.

[After pgb5 it's Cg6 en passant, double check, cappy mate. Nice.]
R | Here the cappy is on h2-h5. With Ch5:
BKpk| Bd6 kh6, Bf4 kh7, Nh8 mates next.
N | Position 2.
Cl
2. R]
K { Here the cappy is on g2-g4. With Cg4: K | ! R
R | BeS kg5, Be3 kg6, Ng7 mates next. R| ! K kpi
B pk | This also works with ph, near right. B kpl ] B Nj
N | kg5, Bc7 kh4, Bbé kg5, Bd8 kg6, Ng7. N|] | C |
C | With Cg5, ph7 we begin from far right: c |l | R |
R | Bd7 kg6, BcB8 kg7, Rf5 kh8, Bcé kg7, R | |
3. | Bed kh8, Rf8 kg7, Nf7 mates next. 4. { | |
[5. !

The case Cgb, pf7 seems to require more material.



| Summary: |
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Cases are listed at the cappy location, except "5" means
5 with ph7, open question with pf7. And, "7" means$ 3 if
pf, 4 if ph.

Always: K is on x or y (or ...} and :B means Black to move.
It would seem that White wins, even though to win he must
premote one Pawn without losing the other, as W+eC = draw.

It is easier to maneuver the White King behind the Pawns than
it is for the Black King to maneuver in front of the Pawns.
But a close look suggests the position is a draw. We pose

it as a three Pawn problem in which a Pawn may not promote,
and Black draws if he captures any Pawn.

Claim: with W to move, b5 b6 is always worse for White.

All positions are drawn, since the best W can do is reach another.

[

[

|

|

| p P
I Xy
{

{

1

k P

:B

In
In
In
In

= W N
s a1 ee ee

| 2:Bj | 3:W| | 4:W|
[ P I |Ip i I p |
| k | [ k I k [
| P | | P} P |
| P P | | P P | | P iP3 |
| wxyzr | i wxyzr | | |
| stuv | | stuv | | |
| [ | [ |

Kx or Ky, kdé=3.

ke5 forces 1 (Kz loses bd).

Kcd4 keS forces 1, Kd4 ke6=4i, Kf4 ke6=4j, K other is 2.
e5,g6 lose a Pawn, Kany ke5 forces 1.

Xy

2z

In
in
In
In
In

O ot wm
"1 ee ae sa wa

From

0:

o
N o w
e}

Kd4 kg6 or Kf4 kd6 force Ke3, then ke5=6.
Kany loses a Pawn, and g5=1.

gd ke6=5, Kd3=0.

e5 kf5 loses g Pawn, g4 kf6 Ke3 ke5=6.

e5 kd5 loses b Pawn, g4 kd6 Ke3 ke5=6.

kd6é Kd4 ke6=8, or kf6 Kf4 keb6=9, or kfé Kdé4 keb6=8. Draw.



k | What is the outcome with White to move?

|
| R ] Ne7 khB8, g7 kh7, g8=B kh8, Ng6 kg8, h7 is mate.
| PC| [so for example, if rook is on £7 not b7, 1-0]
f NK | Ne7 kf8, g7 ke8?, g8=R kf7, Ng6 ke6, Nf4 kd6, Rg6 kc5,
| | Rb2 rhl, Nh53 Rh5 =.
[ 1
| p I RR
| ¢ | RR c7 d7 e7 £7 g7
———————— c6 d6 e6 £6 g6 CC
c5 d5 e5 £5 KK
fork square b4 d4 e3 el c4 d4 e4 NN g4
from/forks c6 d5 d3 e6 £5 £3 c3 d3 e3 £3 g3
pp c2 d2 e2 £2 g2
rr
| ] What is the outcome? Black to move wins: kd5, Ke3 kc4,
i p | Ked b5, dS5 b4, d6 b3, d7 b2, d8=Q bl=qg,
| ‘k |
| !
| P i
| K |
| PC |
[ [
1-0. How?
———————— With W to move, a6 seems to win as B is in Zugswang.
| = == =| But it's Black's move, and after kb7, what? 1. Bd3,
]= k == | ka7 or kc7? ka7, 2 Kb5 kb7, 3 Bed kc7, 4 Kc5 kd7,
| ==C =| 5 Kd5 kc7, 6 Ke6 kb8, 7 Kdé ka7, 8 Kecbd ka6, 9 Kbd
{P K =B= | ka7, 10 Kb5 kb8, 11 Kb6 kc8, 12 BcS wins. And kec7,
| = === 1 Bed is a faster version of the above. Endgames
{= === | like this aren't in the chess literature. Note
| p===| kb7, 1 Bd3 kc7, 2. a6 kd7, 3. Bcd kc7 is a draw,
J= === | as both the cappy and a-pawn are weak.
| | What is the outcome with White to move? | i
| B | It appears White may have enough to force | B |
| r | a position as on the right, which wins. | !
| N C| | RC|
i P | P|
| RK | i |
| I lr NK |
| k| | k|
Draw B wins W wins Can W win?
i [ [ [ I k |
] I Ip I Ip [ I Ip P ppPI
| I [ I I |Ip b |
] I [ [ | |
| R | Pk 1 Ik | I | nP r P
i k pC | | pc | | pC | | { | P NB |
fr I I o | IP R PC |
! k1 | k1 | k1 ! | KR |



[It once occurred to the Cappy players that White had earlier
made an illegal move (possibly the best move for that positionli).
The net result has been that Black on occasion uses extra

time checking that the last White move was kosher.}

Found by Jack Rogers 7/6/97 on a Stash Earl Grey Tea wrapper:

"There are few hours in life more agreeable than the hour
dedicated to the ceremony known as afternoon tea." Henry James

QeB almost wins, but Black has a narrow path to a draw.

Xyz Xyz Xyz Xyz Xyz

0e8 kcd Qa4 kd3 Qdl kcd b3 kb5 a4 ka5 b4 b4 b4 kb4 Qel 1-0
ke3 Qel . Qg3 . Rg5 1-0
ked ©Qhl kd3 Qfl ked4d ¢@Qf4 1-0

Qe8 ka5 b4 b4 b4 kb4 Qf8 kb5 Qe8 ka5 Qd8 kad Qd7 ka3 Qe7 ka4

a xyz b xyz c Xyz e Xyz g XYz

Keep your King on the pink squares.
Make a house with your pawns and your King will be safe inside.
Is that a free Pawn?

1/16/98 PL-GS

e4 <¢5, Bc4 Nc6, b3 e6, Bb2 Nf6, e5 Nd5, Qf3 NS5e7, Nh3 Ng6,
Qg3 Qc7, f4 d6, ed Bd6, 0-O a6, Bg7 Rg8, Bc3 b5, Bd3 Bb7,
Bg6 Rg6, Qh4 Ne7, R£2 Qc6, Qh7 000, Qf7 Rg2, Kfl Rf2, Kf2 Qg2,
Ke3 Nd5, Kd3 Nf4, Ke3 Qe2 mate.

4/15/98 GS-AR Cappy

e/h4 g5, hg nf6, e5 nd5, d4 hé, g6 £g, Bd3 rg8, Qg4 hS,
Rh5 gh, Qg8 nb4, Nf3 b6, Nc3 bb7, Ned4d nc6é, Bh6 nd3, cd a5,
Bf8 ra6, Qh8 ga8, Bhé kf7, Nfg5 kg6, Qg7 kf5, Qf7 kg4, Qf3 khi4,
g3 mate.



